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Calculation of Equivalent weight: oSl sl f
1- Acids: S
” Mwt
WL (@ = o
eq.wt (acid) no. of ionized hydrogen atoms (H )
gl o)l

i = el 8 56l
(H7) 230 250 Gaa s paell & 50 S oo

Ex. Calculate the equivalent weight for hydrochloric and sulfuric acid
For HCIL:

= Mwt
caw no. of ionized hydrogen atoms (H )
1+35.5)g/mole
_L )9/ =36.5g/eq
For HZSO4:
[(2X1)+(1X32)+(4X16)] g/mole
eq.wt = 3 =49 g/eq
2- Bases: e pdll
‘(b _ Mwt
eq-wt (base) 1no. of ionized hydroxide groups (OH")
e o5

- = saclall - &<l oy 4l
(OH) 4l 20 5 sl paalas 2o el (AR O

Ex. Calculate the equivalent weight for sodium hydroxide and aluminum
hydroxide (Atomic weight: H=1, O=16, Na= 23, Al=27).

For NaOH:
(= Mwt
*IWE T ho. of ionized hydroxide groups (OH")
(23+1+16) g/mole
= 1 =40 g/eq
For Al (OH),:

eq.wt =

[27+(3X1)+(3X16)] g/mole i
3

6 g/eq
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3- Salts: 2y
Mwt

eq.wt (salt) = . — :
q (salt) no. of cations x oxidation number of cations

=l oo
a2 dae g all &l yh e
Ex. Calculate the equivalent weight for calcium chloride and ferric sulfate
(Atomic weight: Ca=40, CI=35.5, S= 32, Fe= 56, H=1, O=16).
For CaCl,;:

:Cd..aﬁz_vjlid'l O

Mwt

no. of cations x oxidation number of cations

404(2X35.5 mole
:( ( 7%:1)g/ =555g/eq

For Fe, (SO,),:
[(2X56)+(3X32)+(12X16)] g/mole

eq.wt =

eq.wt = =06.667 g/e
q 3X2 gred
4- Oxidizing and Reducing Agents: 2Ll Sl falgalt
e ) Mwt
o ag =i
eq.wt (oxidizing agen no. of gained electrons
22 o))
- = S all (Lalall - 8IS 5y 5 o))
Al s g STV dae sl =
. ) Mwt
Wt (redaucing agent) =
SEWLATECuEilE Sen no. of lost electrons
) o)

83 giidl ol g SV s il daladl g 81l G500
o2 Sl 3

Ex. Calculate the equivalent weight for potassium permanganate (Atomic

weight: K= 39, Mn=55, O=16).
- + - 2+
MnO4y +8H +5¢ = Mn + 4HZO
S50 Jale KMnO, o) ¢! U5 538000 Qlui€) & pan 23l Aslaal) o JaadU
Mwt

no. of gained electrons

39+4+55+(4X16 l
( ( 5 Jg/mole _ 1 <o

eq.wt =

2
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Units for Expressing Concentration
S e ppadll dlaaduad! Cilaa 4!

Concentration: Is a general measurement unit stating the amount of

solute present in a known amount of solution.
amount of solute

Concentration= 3
amount of solution

Although the terms “solute” and “solution” are often associated with
liquid samples, they can be extended to gas-phase and solid-phase
samples as well. The actual units for reporting concentration depend on
how the amounts of solute and solution are measured.
st e ol e s e e b i 4 I iAo Gl 5am s 50 - 38
O Sy ) W1 AL el ae Jasi 53 Le Wlle " slaall 5 Mlad) clallaas () (g
Gl 8 4eS e aqiet 38 il ddaall chlas 61 o) g @llaS Al all g 4 Hlall 63@1 Jasdis

AV aaall gaaly 3 e el (Say J slaall 5 il

1- Molarity (M): A )Y sall
It 1s the number of moles (number of molecular grams) of solute per liter

of solution. ‘
bl e il 8 daall salal) (e (A Jad) lel jall aae) OV gall dae g3l i jas

number ofsolute moles n Gl DY e nae
- . - , — %
V (Liter) V (Liter) Al Jsladl aaa
wt al Al Al 5 5 .
Where N = —— — = il &Y g 220
Mwt I A sall 5l
number of millimoles Sl QY e e 22
- ! =i Nl
V (mlL) Ll Jsladdl ans
y wt 1000
= X
Mwt VmlL
Jslaall aaa Jiay VL etiall el o5 6 Jiay Mt <pl jall Qlaall o) Jias wit
allally

Units of molarity are: mole/LL , mmole/mL
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Ex. How many grams of AgNO3 used to prepare 500 mL of 0.125 M
solution (Mwt = 169.9 g/mole).

wt 1000 Mx wt xVmL
M = X >=>= Wt =
Mwt VmL 1000
MxwtxVmL  0.125x 169.9 x 500
wt = = =10.619 ¢
1000 1000 -

Ex. Calculate the molarity (M) of solution result from dissolving 20 g of
sodium hydroxide in 2.0 liters of solution (Na=23,0=16, H=1).
We could solve this question in two ways:

n _owt 20g 0.5 1
— — — 051
NaOH Mwt (23+1+16) g/mole mote

n 5 ~
M= - = =025M
V (Liter) 2
wt 1000
or = X
Mwt VmL
20 1000
= X =025 M
40 2000
2- Normality (N): o yluad)

It 1s the number of equivalents of solute per liter of solution.
slaal) e il 8 30 3alall (e dal el BT aae il o e

_ number of solute equivalents no.of eq

V (Liter) v (Liter)
Il el il lESA dae
; = adlle ) 5l
DAL J glaall anall
wt Pl cladl oy
Where no.of eq = — = dual jal)l LI aae
I eq eq.wt QA s A 5l
number of me Al A jal) clal L) aae
_ f meq . A L
V (mL) Sllell Jladl) ana
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wt 1000
X
eq.wt VmL
axa Jia VL eoliall ol jad) S8 o) 5 6l Jlas eq. witeal jadl QIaal G5 Jias wt
 Fllelly J sl all

N =

Units of molarity are: eq/L , meq/mL

Ex. How many grams of sodium carbonate used to prepare 250 mL of
0.20 N solution (Mwt = 106 g/mole).

Mwt

eq-wt NazCOs = no.of cations x oxidation number of cations
= =353 gleq
N = wt ; 1000
eq.wt  VmlL
02 = wt . 1000
53 250
wt =2.650 g

Ex. Calculate the normality (N) of solution result from dissolving 0.5 g
of copper (II) hydroxide in 100 mL of distilled water. (Cu=63.5, 0 =
16, H=1).

Mwt
eq.wt Cu (OH):=

no. of ionized hydroxide groups (OH")
[63.5+(2X16)+(2X1)]g/mole

= > = 48.75 g/ eq
_owt 1000
- eq.wt *VmL
0.5 1000

N =
48.75 ~ 100
~0.103 N
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Units for Expressing Concentration
S e ppadll dlaaduad! Cilaa 4!

Concentration: Is a general measurement unit stating the amount of

solute present in a known amount of solution.
amount of solute

Concentration= 3
amount of solution

Although the terms “solute” and “solution” are often associated with
liquid samples, they can be extended to gas-phase and solid-phase
samples as well. The actual units for reporting concentration depend on
how the amounts of solute and solution are measured.
st e ol e s e e b i 4 I iAo Gl 5am s 50 - 38
O Sy ) W1 AL el ae Jasi 53 Le Wlle " slaall 5 Mlad) clallaas () (g
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AV aaall gaaly 3 e el (Say J slaall 5 il

1- Molarity (M): A )Y sall
It 1s the number of moles (number of molecular grams) of solute per liter

of solution. ‘
bl e il 8 daall salal) (e (A Jad) lel jall aae) OV gall dae g3l i jas

number ofsolute moles n Gl DY e nae
- . - , — %
V (Liter) V (Liter) Al Jsladl aaa
wt al Al Al 5 5 .
Where N = —— — = il &Y g 220
Mwt I A sall 5l
number of millimoles Sl QY e e 22
- ! =i Nl
V (mlL) Ll Jsladdl ans
y wt 1000
= X
Mwt VmlL
Jslaall aaa Jiay VL etiall el o5 6 Jiay Mt <pl jall Qlaall o) Jias wit
allally

Units of molarity are: mole/LL , mmole/mL
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Ex. How many grams of AgNO3 used to prepare 500 mL of 0.125 M
solution (Mwt = 169.9 g/mole).

wt 1000 Mx wt xVmL
M = X >=>= Wt =
Mwt VmL 1000
MxwtxVmL  0.125x 169.9 x 500
wt = = =10.619 ¢
1000 1000 -

Ex. Calculate the molarity (M) of solution result from dissolving 20 g of
sodium hydroxide in 2.0 liters of solution (Na=23,0=16, H=1).
We could solve this question in two ways:

n _owt 20g 0.5 1
— — — 051
NaOH Mwt (23+1+16) g/mole mote

n 5 ~
M= - = =025M
V (Liter) 2
wt 1000
or = X
Mwt VmL
20 1000
= X =025 M
40 2000
2- Normality (N): o yluad)

It 1s the number of equivalents of solute per liter of solution.
slaal) e il 8 30 3alall (e dal el BT aae il o e

_ number of solute equivalents no.of eq

V (Liter) v (Liter)
Il el il lESA dae
; = adlle ) 5l
DAL J glaall anall
wt Pl cladl oy
Where no.of eq = — = dual jal)l LI aae
I eq eq.wt QA s A 5l
number of me Al A jal) clal L) aae
_ f meq . A L
V (mL) Sllell Jladl) ana
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wt 1000
X
eq.wt VmL
axa Jia VL eoliall ol jad) S8 o) 5 6l Jlas eq. witeal jadl QIaal G5 Jias wt
 Fllelly J sl all

N =

Units of molarity are: eq/L , meq/mL

Ex. How many grams of sodium carbonate used to prepare 250 mL of
0.20 N solution (Mwt = 106 g/mole).

Mwt

eq-wt NazCOs = no.of cations x oxidation number of cations
= =353 gleq
N = wt ; 1000
eq.wt  VmlL
02 = wt . 1000
53 250
wt =2.650 g

Ex. Calculate the normality (N) of solution result from dissolving 0.5 g
of copper (II) hydroxide in 100 mL of distilled water. (Cu=63.5, 0 =
16, H=1).

Mwt
eq.wt Cu (OH):=

no. of ionized hydroxide groups (OH")
[63.5+(2X16)+(2X1)]g/mole

= > = 48.75 g/ eq
_owt 1000
- eq.wt *VmL
0.5 1000

N =
48.75 ~ 100
~0.103 N
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S el ity 5 ol jally S yall el ¢ 50 e el 513 el S all (S 3
Ad g e

Lapall JSii Gl <A G N sl g s (Fwt Ulsl gFw) ol oal) daaa 35
A sl LS a8 B3 s 9 LS g el 3aS aa 63 Y 1 o) sall A8 V) Caa ) 8) A YY)
(DY 5 a0 il 5 Ay sl (alaal) (Jiall Jas e

Sl iall s ol (e (1023%6.022) sodta sl e sa g o(Jsall) U sall  seda
aie Ty salell Axgall 5 ol s oW ol sa hase AV g1 Y S el Y
AP

A c

weight(g)

formula weight (;

mole

mole )

weight(mg)

mMole mg

formula weight (m)

.Na; WO, e’i‘\ 500 ‘éﬁ Y gall 230 Crual —r JBa
sl

wt(mg) _ 500mg

M. wt ) 293.8—19
mmole

mMole = = 1.706 mmole

(ot
mmole
mmole 1.706

Mole = = = 0.00170 mole
1000 1000

Hy (= p 25.0 (A 33 92 gall Sy 3al) e L dla

No. Molecules = No. moles x Avogadro number

=12.40%6.022X102°=7.74x10** molecule



(<hpasd) J-MS\) Fe203 Jsaile 0.250 (B 25 3 al jala oS -1l

‘Jall

mmole )

wt(mg) = mmole x M.wt (

mg
=0.250mmeole x 159.7
mmol

= 39.9mg

Jallaall 381 5 e el (5k
— il e 8 calall Gl 413 (e 5 emaal) Jillaall (M) s sall S il

AL Jstaall alaad 8 A1) Il @Y e sae Ll e -1 5V sall

No.of mole solute — mole

Molarity(M) = Solution volume(L) =~ L
Molarity (M) = No.of mmole solute — mmole
olarity "~ Solution volume(mL) ~ mlL
wt
No. mole solute = (9)
M.wt (mole )
wt(g)
No.of mole solute M. wr(mo!e ) wt(g) 1000
= = = X
volume solution(L) viml) g wt( )y V(mL)
mL mo Ee
1DDOT
wt (g) 1000
M= g V(mL)
M. Wf(m )
OR
wt 1
M = (9)

th( ) V(L)



250 4z cana 353 & AGNO3 (= o 1.26 4lab Jslaall st oy -1(5) Jba
Leld) a3 A AgNO3 @Y sasdlall dae oS daill <l 555 J slae 4 )Y 50 aual o

‘Jadl

_wt(g) 1000
Moty T Vml)

_ 1.26(9) 1000
169.9 (-L5) ~ 250(mL)

= 0.0297 mol/L

mmole
Millimole = M (.
mL

) X V(mlL)

mmol

= 0.0297 X 250mL = 7.42 mmole

m

M 0.250 23S 5 Jslae 83352 sall NaCl (e ilile JSI ) 2 22e e - 1l

‘Jall
_oowt (g) 1000
a 9 V(mL
M. Wr(moi) (mL)
wt(g) 1000
0250 M = X , wt(g) = 0.0146 g/mL

58.5(-Lp  1(ml)

23S 5 Jslawe (ja Ja 500 Lpasil g )5 (Al NapS0s Slal s 2ae Le - 1l
‘M 0.100

_ wt (g) 1000(”%’)
Mwt(=L) ~ V(mb)

wt(g) y 1000(mTL)
142( %} 500 (mL)

0.10 mol /L =



x 142 -L_

mol —71g
2 (1)

KCl 0.250 M ¢ Jo 100 i axy 531 JS3 o) jally o sansli sall sl 38 53 o) -1 Ui
K2504 0.100 M 3 J 2005

mol )

010( -

wt(g) =

mmol (K+) = mmol (KCI) + 2 X mmol (K2504)

= V(mL) x M (Z22) +2[V(mL) M (Z22)

mmol

1000mL) x 0.250 [ ™™ 4 21 2000mL) x 0.1 ( T
- (mlL) ' (mL) [ (ml) '(mL)]
=25 mmol + 2 [20 mmol]

=25 mmol + 40 mmol = 65 mmeol in 300 mL

Wt(mg)
Mwt (

mmole =

mmol )

m
wt = 65(mmol) x 39.1 (W‘ZE) — 2541.4 mg

_ 25415 (mg)
1000(2< g)

= 2.541 gm in 300 mL

10002
— 2541 gm x -2

3000mL) =847 gm/L



R NTIB PRV IKVEN IO Al Hl 3 palaall -7 /Al 2 LSl slaas  SUN /o glal) and

daMugM@u‘Mdauu\uwﬂude gl S Al e

_ % xdensity x 1000 % X sp.gr.x 1000
B M.wt a M.wt

S Calal) i (Salal) i g 0 9S Bale Baaaall Bl jadl Ay )3 dis ana Baa g JSI gl A ABLSY
Sllally aaaldl g ally ANSH dpad (A ray dygia da 2 20 A (Fampd)

20 vie B3le (Jstaall Ja) pucl) ALS dpusd Wi Sl g 25 o 1(osp. gr) (dpesdll) Ao 5il) ABLSY
GBS o ddl) R) o Bulal dajy (il e slall (e Lgd Sla A A ) dggia dn 0
(Cialal)

.0.898 (s sbew Al & 5l (13505 %28.0 Al 4 giall dpndll NH3 Al ga uuaf -zl
1)

M. wtNH3=14 + (3 x 1) = 17

M % X sp.gr.or(dencity) x 1000
B M.wt

28

M = =16470— = 16470 ——= 16470 M
17 L mlL




R NTIB PRV IKVEN IO Aoyl Hl) 3 palaall -7 /Aaldadl) o LuaxSl) slaas  SUN /o glal) and

ALY (%94.0 (s sbud A 4y gial) gl ¢ S yall Ay ) Gaaa e da U il ibilall d3e aS-lia
(M 0.100) S (e Al 1 spdanil Aa P Sanfad 1,831 A

:Jal)

94
== x1.831 x 1000 mol
= 100 =175 —

98.1 T mL

M

no. of mmol (conc. ) = no. mmol (dilu. )
(Ml X Vl)conc. = (MZ X VZ)dilu.
17.5XxV1=0.1x1000
Vi=5.71mL

3850 Jslas juaadl (Je 1000) S8 1 Y JS5all HoSOs (e idle 5,71 5 5laka ana il Cany
MO0.1

(wadall) Jse Gl aae = (38 all) Jse Gl aae 1 AT Ja

(M1 x V1)conc. = (M2 x V2)dilu.

% X sp.gr.(dencity) X 1000 X V1= (M2 X V2)dilu
M.wt '

% 1831 x 1000

100
xV1=10.1 x1000
98.1

Vi=5.71 mL




R NTIB PRV IKVEN IO Aoyl Hl) 3 palaall -7 /Aaldadl) o LuaxSl) slaas  SUN /o glal) and

-: Diluting Solutions 4ddiall Jallaal)

B Jid) s o 158 5 8145 50 Jillae (e A Jillae jacand () (e S L Lile
b Jolae Lol ()5S 8 5 3 plead) (& 4eladind Sl HCI (e i HCI Jslae dlacly o i
Ao dasdall Jallsall (e dludis jumad B e (5 )8

Mstock x Vstock = Mdiluted % Vdiluted

J4 100 A Apanad) (3509l ¢ Adesy M 0.100 0555 KMNOg Jslaa (4 (93 élal -1l
¥ ge 3805 ey dpaaal) (3150 B dalally Al dlle iy M) Ggiaall Jslaa alaad A L
.KMnO; Jsis<! 10.05, 5.00, 2.00, 1.00, 0.10, 0.001 (s

:Jad)

(M1 X V1)conc. = (M2 X V2)dil

mmol, 1 00(mL
) X 100(mL)

mmol
0.1( )XV1=1.0><10‘3(
mlL

V1= 1.0 mL stock solution (conc.)

L .M 0.250 oS 5 Jslaa (a KoCr07 o M 0.1 Jslaa (e Ja 500 waald B & i i -1 lia
.mL 500 () 48835 Gy s3I M 0.250 058 5 o) Jslaall aaa

1)

(no. of mmol)conc. = (no. of mmol)dilu.
(Ml X Vl)conc. = (MZ X Vz)dilu.

mmol mmol
0.250 ( ) x V1i(mL) = 0.1 (—) X 500 mL
mlL mlL

V1i=200 mL



R NTIB PRV IKVEN IO Al Hl 3 palaall -7 /Al 2 LSl slaas  SUN /o glal) and

Oe ml 100 <iddl Gag axa sl ) SHS04 G0 %13.0 Jslaal N 4 bl g M A gall L - 1L
11,090 (s st Al de gil) ALY ) Lale § N 1,50 0338 5 Jslaa ypdaail (aalal)

:Jad)

M=%xSP.grx1000/ M.wt = 0.13x1.090x1000/98=1.45M.
N=a M =2x1.45=2.9 N.
N1 V1=N2V2 2.9x100 = 1.50xV2
V2=193 ml.

NazCO3 a g gall @ligs S (e Na* sl (0 p 0.010 Jsisa (3 Ja 500 sy o8 - Jba

:Jad)
NazCO: —  2Na++ COs2 ]
0.01/2 0.01
y wt 1000
= X
NazCo3 = M.wt ~ V(mL)
0.005 wt 1000
. = X
M.wt V (mlL)
1000
500 < wt = 0.005 x 106
0.005 x 106
wt = — = 0.265 g Na ,CO 4

Glagf A G KY Gsl 0 M 0.050 83S5 Jslaa (s Ja 250 mdsdy a8 orlia
lall K5Cra07 a s gl

K,Cr,0; =—2K*+ Cr,0; 2

0.01/2 0.01
M a wt 5 1000

KaCr07 M.wt V(mlL)
wt 1000

0.005 = 0t X Vomb

1000
250

. 4.1
WEm w = 0.367g KeCrO7

®* wt =0.005 x294.18

4



R NTIB PRV IKVEN IO Al Hl 3 palaall -7 /Al 2 LSl slaas  SUN /o glal) and
Aal i Gy Al (M 0.100 oS 5) KMNnOs pssesligal) e yn ¢ S8 (Aally aaldl L - 10l
M *10%1.0 dstaa (4 Ja 100 st
rdadl

(M1 X V1)conc. = (M2 X V2)dilu.

mmol mmol
0.1 ( ) xV1=1.0 x10 3 (—) x 100(mL)
mL mL

V1= 1. 0 mL stock solution (conc.)

e A KoCra07 aspelisal) lags A Jslaa (o M 0.250 5:S AN 53 Jolaal) aaa La - b
.M 0.1 238 55 Jslaa (e Ja 500 maadl 4ddas

:Jad)
(M1 X V1)conc. = (M2 X V2)dilu.

mmol mmol
0.250 (—) X V1i(mL) = 0.1 (—) 500 mL
mL mlL
V1=200mL
SN pllaaa (el Gany A G gl addiey -F (Formality) (lessill Sl

o o) Al Balall A clijas aa i Y AN A el) 3y Jalla ) B LET e 6l
Lase 4 ¥ gall Gudi (A Aalla il (F) Jall gilae) oy g J slaall

Jotaall (e aalg Al A Galdall Al sl G5l a2 -1(F) dalla il

__ No.of FWt
B V (L)

wt(g)
F.wt(—=2—)

mole

No.of F.wt =

_ wit(g) 1000 _ wt(g) 1
~ Fwi(L) T v(mL) or C Fwit) T ov




R NTIB PRV IKVEN IO Al Hl 3 palaall -7 /Al 2 LSl slaas  SUN /o glal) and
Jila Gula A Gilda Jilu lda (e sl Jglaall Ala sl 3830 o

_ % X density x1000 % X sp.gr.x 1000
B F.wt B F.wt

F1xV1=F2xV2

AL Jglaall aaa A Al Gidall 23e 1 (N) (dadbasill) 4 el

el cudal) L;A Gldall Jilad) Qldal) (e sl Jslaall gl 8 Al e

% X density X 1000 % X sp.gr.x 1000
B Eq.wt B Eq.wt

N1XV1=N2 xV2

-1(N) dubeadl g (M) AN gall (o A830al)

M= wt ¥ 1
T Mwt " V(mL) L M _ Eqwt
— e X = N M.wt
Eqwt V(mL)
M= No.of mole (n)
_ V) ryy o W
N = Noeq.wt -~ N No.eq.wt
R0
N=n(M)

(n) = No. of equivalent, H+, OH, or electron




R NTIB PRV IKVEN IO Aoyl Hl) 3 palaall -7 /Aaldadl) o LuaxSl) slaas  SUN /o glal) and

(M 0.25 Jslaa (1 Ja 10 pe Jolihy cd g HS04 (0 M 0.25 Jslsa ¢ silila oS - 1l
.NaOH

:Jad)
N =nM (n = No. of equivalent , H+, OH—, or electron)
Nuzsos =2 X (0. 25M) = 0.5
E me
= 0.5 (_q) or (_q) or N
L mL

NNaoH=1Xx0.25=0.25N
(N X V)uzsos = (N X V)naou
(0.5 X V )Hzs0:4= (0. 25 X 10)naoH
Vizso.= 5. 0 mL

poaligdl tlag S AU 0.1379 N JuSU% Je 43.50 (A 3253 gall cilidlSa Aol a0 La - Jla
¢ K2Cr207

no. of milliequivalents =N x V

meq
= 0'1379E X 43.50 mL = 5.9987 meq



R NTIB PRV IKVEN IO Al Hl 3 palaall -7 /Al 2 LSl slaas  SUN /o glal) and
14 gial) dpaadlly a8 A1)
6-Concentration by percent:-

a/ (Percentage %) Parts per hundred (pph):-

wt wt solute(g)
(— %) = x 100
wt wt soluton or sample(g)
wt solute(m
- (mg) x 100
wt soluton or sample(mg)
wt wt solute
(— %) - (9) X 100
V V soluton or sample(ml)
wt solute(m
- (mg) x 100
V soluton or sample(uL )
(V 0/) B V solute(mlL) < 100
v °) ~ V soluton or sample(mlL)
V solute(pL
- (ul) x 100

"~V soluton or sample( pL)

slall AUS) sla Ja 100 22 AgNO3 (+ o€ 5.0 hliy piasal) Jglaall 435560 Apdl) Coaa) -zl
(Cala® 1 59l

:Jad)

wt wt solute

(_ g ) _ (9) x 100

wt wt soluton or sample(g)

wt wt solute(AgNO
(_%)= (Ag .3)(9) % 100

wt wt solute + wtsolution(H,0 )(g)

wt 59 59
(E %) _ % 100 = X 100 = 4.76%

5+ (100 mL x 1-2 105 g

mL



R NTIB PRV IKVEN IO Al Hl 3 palaall -7 /Al 2 LSl slaas  SUN /o glal) and

(%0.859 = % a2l sY) SiHa (Saead) Jstas (e Ja 500 (A el all 28 Gual -1 Jlia

:Jad)
wi B wt solute(g)

(F %) "~V soluton or sample(mlL) * 100

wt NaCl(g)
0 =
0.859% S00mmL X 100

0.859 x 500

wtNaCl = 100 = 4.25 g NaCl

(%5 = % aaa/0is) O Lale cqudall o A1 1 (A S slall 5 il —1Jba

:Jad)
wt . wt solute(g) _ wtglucose(g)
(V Aj) - Vsolution or sample(mlL) X100 = Vsolution (mL) *x 100
wt glucose(g)

5% = X 100

& 1000(mL)

5x1000

wt glucose =——— =50g

100



R NTIB PRV IKVEN IO Al Hl 3 palaall -7 /Al 2 LSl slaas  SUN /o glal) and

sla Ja 200 g Jfisall J9aS Ga Ja 50 haldy planal) Jglaal) aaat 4 giall dpwdll Gual - 10l

:Jad)
(V 0/) V solute(ml) 100
— = X
72 V soluton or sample(ml)
(V 0/) _ V methyl alcohol(mL) % 100
vV methyl alcohol +V water(mlL)

X 100 = 20%

V 50mL
(5)-
V (50 4+ 200)mL

-1 sl S AN aa Ay ladl o Ay Y gal) (o ABDNal)
(Yop2310135) %0.85 psdsall 4)5iS Jglaal M (s Y sal) S AN quuaa) -z Jlia

wt(g) 1000
= X
M.wt = VmL

wt(g) 1000
X
M.wt = 100

wt 1000
= —% h ¢

|74 M.wt

~0.85 1000

100 X T 0.145M

Sodle ] JUiall Ay jliad) Gilewa Liiay i %

10



3 3130 ae deal 30 sl )M 5 poalaall -1 /Asllatl) cLa s slaasS S /o slall and

=oblal) gl ¢ygalalt gf ATY gﬁ gAYl Al -

- Concentration in parts per thousand or million or billion:-

weight solute (g)

3
weight sample (g) x10

ppt (w/w) =

weight solute (g)

6
weight sample (g) x 10

ppm (w/w) =

weight solute (g)

9
weight sample (g) x10

ppb (w/w) =

weight solute (g)

3
volume sample (mL) x10

ppt (w/v) =

weight solute (g)
volume sample (mL)

ppm (w/v) = x 10°

weight solute (g)

9
volume sample (mL) x10

ppb (w/v) =

volume solute (mL)

3
volume sample (mL) x10

ppt (v/v) =

volume solute (mL)

6
volume sample (mL) x10

ppm (v/v) =

volume solute (mL)

9
volume sample (mL) x10

ppb (v/v) =

11



3 3130 ae deal 30 sl )M 5 poalaall -1 /Asllatl) cLa s slaasS S /o slall and

=z oblal) o Gsalal) of CAIY) A o) al) g Ay gial) dpdl) (e ABSa)

Relationship between percent ( %) and (ppt, ppm, and ppb)

ppt = wt/wt » 10, ppm = wt/wt « 10", ppb = wt/wt » 10’

The relationship between molarity, normality and part per million:-

o PPM
~ M.wt x1000

N PPM
~ Eq.wt x 1000

¢ 00 e satlly o i

1- 10 ppt to wt/wt%. wt/wt% =
2- 86 wt/wt% to ppm. ppm=
3- 6.6 M of KzMnO4 to ppm. ppm=

Y
]

350 ppm of H>S04 to N. N=

12
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dcalAd) 5 puialaal)
= (PH) (£ 900l a3 ) of (Aucaalal) Alal)) s g suiel) )

Y sall 58 il Qllal) 55l 5l (5 b s 5 Jlaall 3 Cpm g pued) i Y (5 Y sall S il (ilie o8
A Asleall 8 LS Cpm g yaedl i 5

pH= - log [H']

s On gl (8 GDEAY) Gy Cua Apaslal) AN QS e Jlexinly L) pH ded o oy -
weala Jl ladll e piai pH A4 jiaall 3 jea¥) o) pH (A @l jpsill eboad) il

CpH s el e alaie) Jalall (51 ey i (Yl S0 Jlexiny pH de s 2y LS -

ALl Guadl) dle 48 5 dausd 5s pH Gl i Ll -

PH = -Log [H]
[H]=10"H

POH = -Log [OH]
[OH] =107°8

PH + POH = 14
PKwv = PH + POH = 14
-Log Kv=-Log [H'] + (-Log [OH])
PKw = —L{)g Kw
7 = POH = PH 4l Jiaall

(0->7) 7 > PH 4sadall il
(7 14) 7 < PH Al Jullaall b

—r basld _yaala o o) gill el
Al ARl Alaip (ese Joli Y () g il () il A (S
aXY —bX + cY

X" v1°
K= ——
XY7]
O G
(O of il o3l = K
Aoy Ascitall 3alall = XY
Gl i SE i gi = X, Y
dala¥) A<l 3alall N g dis = g
Sl o X Y il sllgd N gae = b,



@ 3l ue daal s LwaAl) 3 palsall o7 /ALl LS slaas  SU /o glal) anid

Ka gaalad) (k) dlsis culd

CH;COOH = CH;COO + H

+.

[CH,COOT] [H]
[CH;COOH]

Kb ) ($uld) SSis el

NH,OH = NH, + OH
[NH,] [OH]
Kb= e
[NH,OH]

Kvw = Ka ¥ Kb

Kw
Ka=

Kb
Kb — Kw

Ka

plall I Gl ol = K O) &us
oaaal) s cli = K,
pas Al Sl s = Ky,

Ionization Degree : ¢ ) ds 2

(Assitall) ALliall Aag))
= Jonization Degree Gl As 5

A1) dgac

Ionization Ratio p Qi & gial) Al

(Assinally ALlial) gl

100 x = Ol Ay sl e
E.}.'I.‘Jl ;.,_uﬂ!
100 x Oddllda e = o il Al giall Al



@ 3l ue daal s wd Al 3 jpalaal) o7 /ALl LS slaas  SU /o glal) anid

$5x10° M o s oY sall S Al J slaal a9 0l syl 38539 pOH 5 pH Gaa) /b

[H'] [OH]=1.0 X 107"
1.0 X 107
5% 10° [OH]=1.0X%X10" > [OH]=——=2X10"
5%10°
PE= Log[H']=Log5X10°=2.3

P°" = Log [OH]= Log2 X107 =117
or PH+POH=14
23+ POH = 14 —— POH = 14 — 2.3 = 11.7

¢ LW POH ¢ PH i //Jta
¢0.135 4l da ;19 0.01 M <Llill Gaals Jglaa
¢ 0.125 Ay 4l 5 0.01 M S Jis 2523 gaY) L€ g Jolaa
Ol ll &) cale 13 AR Glaala 5 e 0.1 (N) Jstaal G g ) Ol 38 5 ) /G
T Kh = 1.85 X 107 Llaalall

CH;COOH —> CHs;COO  +H* /g da
103 0,135 iy (s paalall Jlae ) Ly
[H*] = 0.135 x 0.01 = 1.35 x10° M
pH=— log (1.35 x107?)
=3-log1.35=3- 0.13=2.87
pOH=14 - 2.87 =11.14

_eola) B s Al _ aalal) o) gl

a5 SV @iy 5 3acl@ll o) (aalall 8 e Alial) dpeSll aaind g elall b ae) g8l 5 Gaal ) ol ol S
L s lSand Capaall gl g IV L) LIS 8l

A Al LS SIS T35 05y Cm Ty Ll 1Sl e e
HCl+H,0O —> H30"+CI-

A Al 3 (e LS T (s Chann (el g L2 (mala Ll
CH3;COOH + H,O—> CH3COO + H30*

(A Aalaalls Je i 3l ¢ sl s pmania 55 (S g



@ 3l ue daal s wd Al 3 jpalaal) o7 /ALl LS slaas  SU /o glal) anid

_ [CHsCOO] [H30] 0
~ [CHsCOOH] [H,0]
(Acidity constant) dxaslall cull i Ka o) dus

Ka

¢ IS Alslaal) sty (1) Adsbaall (e Cidag A S oy L&D el () Las g

_ [CH3COO_] [H30+]
= [CHsCOOH]

sy (aalall (5 s Gl Lale 1x103 M 038 55 53l Gllall adla Jslaad pOH s pH el /e
£(1.75 x10°%)

HOAC ——> H'+ OAC" /3=

(1x10°73 - x) X X
_ [H1[OACT]
K& = THOAC]

X2
1x103 - X
oY Aleall alia (1o X eaga A 85 e il gl Ay *

X =1.32 x 104 M = [H']

1.75 %10 =

pH =—log (1.32 x 10%)
=4-1log1.32=4-0.12=3.88
pOH = 14— 3.88 = 10.12
(1.75 %1075 )saclall (s <l ) 5&5 Ladie 1x103 M 038 5 ) L sa¥) Jslad pOH 5 pH s //s

$°C 25 4a 0 2ic

NH; + H. O —» NH;+ OH -
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-:Salts and Hydrolysis of Salts 75 el Jait) g Sy

Al i) aa (NHy pspisel D3 ) 518) 3ac ) (e dam g Gl gyl alad) (e e 4 ol LS je (A 70l Y)
0583 o)) (S 3N A sSall gV (@lindll e J8) Tl 5eS Joleie Jeliill il GlAl adlall (g
Badaie (5585 gl yslall Jie 3,00 dpalal S5 () Sy ) AN Jie Apae ) e ) SlSH i 4y pac

Ll Sl e cal Al

) _ COY) praad g
: A il OO st

Mg + CL — MgCL BY aa B Jel
Ca(OH). + 2HC1 — CaCL+2H.0 sacld ae iaala Jelis 2
Mg + H:SO: — MgSO:+H: 1 oRala (i gtk Jam B Pla) 3
NaCl+ AgNO: — NaNO:+ AgCl | ssdall Jad 4
-4Baa

Ca(OH): , KOH , NaOH : &sllsidlicae
ASieala) ) . Cu(OH) ooad) 33 558 NH1OHp 5585 &3S 530 Absmdl) 51 6hl) (ae
(sl

HBr « HNO3 « HCI « HiSOy : dughll sl sall (e @
HCN ¢ HF ‘<HCOOH « CH:COOH: dsniall il gadl (0 @

s ok il

Gl g Lile Llla aay Lgad A gall 4 3180 L W) g Adliall Sl W) al 5a e # DY Gl g e
~rilial day i e 583 ALY 4

i NaCl, KCl Jdhedygibacliy g o8 anla (e AT CELJ;’L by Al oY ()
O3Sy (B gf il g ) Les o< (K = Al olall 8 Ll Ll (s
Y Sl AL el gla
Na:SOs+ 2H:0 — 2NaOH + H2SOs

Jalaia =la Ll g yada
NaCl — Na' + Cl

H:0O = H + OH
[H]=[OH]
PH = POH = 7
05539) A diaclisCim a pad s e A8 Al AOLEY) a g AW o (@)
_:',‘9‘_:3}._5]\ n.LiLn_J_gé _g‘ajai..‘.}..ah R EN JS.A( “'.e,_\,:.lj "fl\.njll Ldjjla_q

CH;COONa + H.O0 — CH:COOH + NaOH
gaels mls Cieazs (aals Lgack

(m 025l C45) [ETROENN (o522 512 20, j200)

5
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: iball Jladll & ghad

MA = M + A clall () ouls i
bl wa gall ) bl & 1
. (32=1all o) (aladl op)
H:O0O — H + OH plall (S5 i Jlag) ouli o

H3O' A o plall pa (558 (a8 ()5S0 hianidal) (Qlaalad) g) 53818 o jhuaa sl (W) JoliS 7
el haal 2 OH 5l baadl 2 H 4

CH;COONa = CH;COO +Na’

HO — H + OH

CH;COO + H,0 = CH;COOH + OH

K gelall lad) Jladl) culs

[CH;COOH] [OH]] [Acid] [Base]
Kn= =
[CH;COO'] unhydrolyzed Salt
Kw
Kn=
Ka
K K
41 wia
[H ] - | C
\l
1 1 1
PH=—PKw+—PKa+—LogC
2 2 2

K, . K, ol el o il (Say 4008 Aladal) 20 gl i palaad) Guls Adla (8 4] Las
T AT AR Aslaall aladiul

pK, =-logk,
pK, = —log K,
0.01 M KCN a5l o) 2ilocs Jslaal K 9 PH A 9 2gd) () cacaal) //Jla

¢ KH(K(-};} =7 x 1{}_10 )] Lale
1 1 7 1 1 10

PH = ( <14y +—( log ) + <2 mp PH—7+ — (log7-logl0 ) -1
- - 10 ) 2
= = 10 - 1
1 = — (0.845-10) -1
PH=7+— ( log7-101og 10) -1 mp PH=7+-—I
- 2
I 7. 1
B N ] ap PH=7-4577
PH—?+Tg 9.155) -1 PH — 1.423
Kw 1074
Kh= = =14 %107
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sNH,Cl Jie damn sacli 5 o 8 Gaala (e 85 ~3LY1 a5 1 Audaalall 73Y) (7)
- Maals L shae 6 Gua (NH,)2SO04

ide dblee  CuSOs+H:O0 — Cu(OH): + HaSO:

‘____..‘_-..q._n.;ﬂ.. FETIER AV UJ&L_'.m._-;
: L;LJ'I Jladll ol glas
NH,CI = NH, + CI
H-O = H + OH
NH; + H,O = NH OH + H™
[Base] [Acid] [NH4OH] [H+]
Kh = =
[unhvdrolyzed Salt] [NH4 ']
K‘.T
Kn=
Kb
[H*] = wt
J T
1 1 1
PH= PKw - —PKb- —TLogC
) 2 2

s -

NH,C1 0.01 M Jsisal Kn gelall abal) Jhaill cullg PH (2 5020 ) ) 10l
*Kbvua=1.8x107 ) lle
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G aguiga¥) Clla g g a g ga¥) COA Jia s (ks g ddada Sac B (e ASiial) 3LaY) ()
"hacld g ludala G5 Ol o (( Ka = Kb OLS 1) mYaata ) Lal bl Lgd slaa O3S
?C el S5 o i YK O3 (Kb gy Ka SIS

Kw
Kn=
Ka Kb
CH;COONH,; + H,0 = CH3;COOH + NH,OH
CH;COOH = CH;COO + H’
NH,OH = NH, + OH
H,0O = H + OH
1 1 1
PH = — PKw + — PKa - — PKb
2 2 2

Ladsdil a3 Knga (Kb 3 Ka ) On oS8 il ) (Bas Laa iy ; dadla
L S Aa s laile Sk mlall g e K O Mpsea (Kb S ) Ka ) QM

Kagcoom=1.77 x 107 & Lale 0.05 N a5 5431 a6 Jslaal Kin g PH el //JGa
¢ Kb=1.79 x 10~ «

A glae Alinl

Telall (2 NHUCl asigal) &)sls 403 sl dada Vila 28U 10w
NH, psisa¥) g Jolihy lld sy plall A Adypd die NHCL pssisad 2sS Ol 1 g
H 5 H3O' ks plall g (8 y s &l cua dhamida 3308 5 jiaa O 5 88 (2 pasla )
AileasKl) VA B odala 80 g Jslanall (K O ) (55
NH, 1 = NHy + CT
HO = H + OH
NHy + H,O = NH OH + H”

¢ "Ll CH;COONa amdgall AL el Jslaall ¢ o< 3lal:
< OH 05 Ay Cua L8 saelhy Lima aala (e (Fidia gelall O 2018 Jglaalicg
Jglaall
CH;COONa = CH;COO +Na'
HO = H + OH
CH;COO + H;O0 = CH;COOH + OH

€ Ml NaCl s geadd )58 rela Jlads 1ial 1 (u
NaCl — Na’ +CI 'z

Lagde (padlill Gl J3 S (8 UM NaOH A8 3B 3 HCL (558 Glaala (a (Sidia el 138 O
- plall g S UL M8 Gldma (U5
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Cduilean<l) Joyal) 8 LS Jalada & gad gaY) COAS Alal) J glaall 0 5<5 13lad Je 2
AR el g Aglaancll VAl 8 50N Jaladia o gad ga¥) CBIAT Slal) Jelaadl o s 7
(Kb = Ka ) ¢ & dyglaia 38050 HY , OH

CH3;COONH, + H,0 = CH;COOH + NH,0OH
CH;COOH = CH;COO + H'
NHOH = NH, + OH

H.0O = H + OH

¢ 4 KNO3 ageali gl il jid 4930 sic (hiball ) A slall PP Aad jamy il Jlo 1w
Alall dlglae G318 KOH 4320y HCI 88 paala (o @il gl 138 o) o7
. 7 29 A elal) PP dad iV g Jalata Jelaall Ay M| PA=7 Ay Jalaia
KNO3» K + NOs
¢ 4d AgNO3 ddaill ol i 4403 aie (hiall ) A pladl PP dad dad (i Ml
ddglaa B 1M AgOH 4 siecliy HNO3 8 paala (e (gl mlad) 1 o) 7
sl b H A a7 g ) N PP Aad (il s L
AgNO3 > Ag' + NOs3
Ag' + H,0— AgOH +H'

Tolall B KON g pa) dibocs 403 e Sidasy 10ls Y Sleal) aa GIEU
€ 48 KF a gl gal) & 0l8 4003) Mo A1 slall PH 4as 202 35 13l 1008 :
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-:Buffer Solutions (A Jalla) dakiial) Jullaal)

S ABsaclE ) o8 (aala (e AL LS Ailal die s g aed) () 8 ) o gl ) Jallaal) s
lealesddmnsacld g dale s Camia adla o (S g8 5 Cadaill vie
e cplale e alatall Jglaall 3 )08 adiad

o3 (5 sbuili Ladic calaall Lgiled )3 pa8l) Jaal Cua melall g Copmaall aaladl 508 55 sl (]
PH = pKa ¢85 Sua b el Cualiio vie ol Giag g dpil)
eSO sy @l LalS 3 paall ala 3 s mlall g Comaiall aaladl (e IS 30S JiAs 0 2

A 5 A (mala (e (S plaie Jslae Wl ) (i i dadaiall Jallaall s 5 pnell (6] sl
AN 5 gealls @l e any s Ui a oty Gaalal) (8 o 50 aall

CH;COOH = CH3;COO™ +H* ....(1)

[CHsCOO][H*]

K =
¢ [CHsCOOH]

. (2)

[H*] = Ka—LCHaCOOH] 5y
[CH;COO]
o LS (ol (g Ll g0 guall DI Ll

CH;COONa = CH,COO  +Na* ....(4)
1) el (1) el (3
G el ) 585 — A sl 3S i = Gl e LAl (mdls 585
O el Osa) 58 i+ s geall DOIA 58 yi= Jslaall 8 QU O gl S 8

i (3) Ml (A (aysailly
[CH;COOH] — [H*]
[Ch,coo+ 1] O
e Cahall (e Caday 131 g3 gaall @M 3 5 g LAl aala S 50 A5 e jaea HY 3855 o) L
: IS Al s

[H']=Ka

- [CH3COOH]
[H] [CH:COO] ©
o [Acid]
[H ]—Ka W(7)

&= (-log) x Aalaall iy g
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~ Log [H*] = Log Ka — Log _[Acid]

At 3 pemlaall -1 /AGllal) eI

SLasS Ll /o slall and

(8
[Sal] ®

pH = pKa + Log Isalg

.(9)

[Acid]

<l shaall i ¢ Uil s NH4Cl s NH4OH Jie Ladlal aal 5 ddsniia ac 8 (e abaiall Jshaall ()55 13)

Al sl e Jiass 4L

pOH = pKy + Log

[Salt]

[Base] (10)

pH = pKy —pKy—Log

AUl Aabeal) (e pH s
[Salt]
[Base]

Jslaay 0.5M CsHsCOOH éhigsisll aala (e ¢y s8a aliia Jglaal i g gl () ual /Ui
¢ pKa=4.1 ¢kl 10 g/L 5S4 CeHsCOONa pszguall &l 554

x 1000
v(ml)

wit
M.wt

M céHscoONa =

10

" B x 1000
C6H5COONa — 144

1000

=0.007/M

pH = pKa + Log 1581l
[Acid]

0.007__ 3239

pH=4.1+Log
0.5
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—cdalaiall Jallaall B & i) ¢ o) 5_aUs

S Jal gl aal e Jeany 2 sl ol 55) 55 Ala 8 3 5 Ao gana CilS 1Y) AdILE — J Bacld
8agall 5 sl 138 A1) ) Jals Caney Cumy L A8y oy )5l ol (8 puad () (g5 0353 Leale adiag
(0 S

aal andy 58y Cin g I S (e JIET (5 8 g I adlhay QA1 0 s0Y) ga) el Adial) G gY)
(Gl cad g SV Ll 3l ¥ e 3

il o) il
rdale s Capan (el Slie (pH ) 2o ) cismal) (aalal) dudaala (e J -]
CH;COOH = CH3;COO~ +H"
CH3;COONa — CH3COO~ +Na'

& yilall ORI G el 308 i) (A e GLAN (mala Jslaa (B o g0 geall GO mle D3] 2ie
oaelall 38 550l jd 4lild —  J82e 8 s (Al Jelal) de o ala 1) bl ead o)) 63l 8 i
(Raadall Ji5) pH 1 21338 Gas 5 aed) Gl gl 58 53 Jiy g (il e ) JLaY)
lgale s dipea 32018 i (POH ) 3l ) ddbsaal) saclil) Lpacld opa JiBy -2

NH,OH = NH," +OH

NH,Cl = NHs +CI

O 3858 3300 G (g3 (paiseY) 2uS ) Ligel) Jslae (A asisal) 20 mle 44031 e
S8 Ja8 4l — JaelB s (A Jelitll s ) Lol o (55158 Cajaid ol ikl o g geY)
pHA Ju pOH A0 ala 3 g 1S g el (ol

el 3 A8 Jid plally by sl dagad Y a5 8 13 -3
AgCl = Ag" +CI
NaCl — Na™ + CI-
dfda G5

S idiall b SISl sl 5855 30k (I (s Auadll a5 Jslae (8 a0 geall 25 e 1) ke

s il ala b alils — (2l caua (G il sa Al deldll) Sl e o) sl b aid
5l 6l
b
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é\w\d)&é‘ NaF 4Lzl ae HFUAABQSSS&JJJQS\ANJMEMhu—éb&ucjmé/w
faud) clal) ddlia) aic 4SSE A 53 2l i Lain

Jad 4lls — Joacl cua AR Jeldil) ma 0 Lee & 8GN F Gsa) 38 5 00 3 e NaF 4l o) /z
A Ay JE 5 Kl

HF = H" + F
NaF— Na* + F

Jeliil) za s Laa () sill 38 55 i) anall bas 5 8 ladae Jid <l oY) ae L el dilial die Laiy
Abls —  JBaclE v ) sill B gadl g i) 12 A1 Y (K& 2 3y gT) (alaY)

-:Types of Buffer Solutions Aaliial) Jullaal) £ gl
sdals g i (adla ]
CH;COOH = CH3;COO  +H'
CH;COONa —> CH3;COO~ + Na*
HCI — H' +CI
Al (5 8 (aela (e AL S dilia) ie ]
QU),}\@«L\M\«L\U),)\ g Hlud) gad Jelatl) (8 )abd gyl <l gal 530S 53 210 3 o g
OS5 1SS [HY] 56805 sl el g il — () 5ae 8 o La 58 55 Jid Adliaall (o 5 gl
(o LS pH ) il 8 0 5S35 Ladla pH ) i3

‘ [Salt]
(s¥)  pH=pKa+Log TAcid]

[Salt] — [Acid added]

sl H=pKa+ Lo
( ) PA=P J [Acid] + [Acid added]

4l NaOH 4358 5aclé (e A8 4 S Adlial e -
CH;COOH = CH;COO  +H*
CH;COONa —> CH;COO™ + Na*
NaOH —> Na* + OH-
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s Jelill ajasd olal) S [OHT ) il g adlas s [HTT I bl 5858 Jiy s
585 s @l g aglils — a2l e Sllgioad) [HY] ) clig) 58 55 & abil) imy sail (el

oL LS waall pH 1 58 o sSnns Tkl pH ) s o 5S0 5 1,88 [H]
[Salt] + [Base added]

) pH=pKa+L
(=) pH=pRa+Log = T~ [Base added]

gals g dimasacld 2
4l NaOH 43 58 3308 (e AL 208 dilizal wie ]

NH.OH = NH,f +OH
NH,Cl — NH," +CI
NaOH — Na' + OH"

Al gyl an s s gl a5 sl g Jeliil) (o jaid [OHT] A <l syl 3 53 1 3y o g
OS5 LSS [OHT A bl S i e Y Al g aghils — J5ae 18 o W S 5 Jid Adladll [OH']

il pH ) Jull s pOH A s
[Salt]

W =
(sY) pOH =pK, + Log [Base]

[Salt] — [Base added]
[Base] + [Base added]

(xa1)  pOH =pKy + Log

Al 558 paala (e AL 4paS Al 2ie o
NH,OH — NH;" + OH:
NH,Cl = NH4s* +CI
HCI — H' +CI

s Je il o yaid elall (o €31 [HY] ) il sl g ladlasy @l g [OHT] ) i) 38 53 J&y s
S8 oy Y el g ails — 33018 s gl [OHT] ) lisy) 5.8 5 4 Gl iy 52 (el
Ligh pH I Jull s pOH ) s 585 1,88 [OHT]
[Salt] + [Acid added]
[Base] — [Acid added]

(xa1)  pOH = pKy, + Log
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400 Y NaOH 0.5 M s HCI 0.5 M ( 100 ml 48l dayis Juany 1 pH S casa) /L
*Kp=1.7x10" ¢ Lale (NH4OH 0.2 M 5 NH4C1 0.3 M) (i Gig8all alaiall Jglaal) ¢ ml
DOH = pKy, + Log 52l

[Base]
pOH =-Log 1.76 x 10~ + Log W =4.754 + 0.176=4.930

pH: = 14- 4.930 = 9.069

€200 ml 0.5 M NaOH il vie
NH;*+ OH = NH; + H;0
jﬁj&duﬁjgmw\ ):‘SJ:’&"JLJJ&M o L,S\:\:‘ASS\ oy g sacd CJAS\QAg)';d};jﬁM\j
Apil) ey Ll
[Salt] — [Base added]
POH = pko + Log [Base] + [Base added]

0.3 x400—0.5x 100
500

0.2 x 400+ 0.5 x 100
500

pOH =-Log 1.76 x 10 + Log

pOH =4.769 + log 0.538 = 4.769 — 0.268 = 4.501
pH= 14— 4.501 = 9.499
A pH=pH; — pH; .... ApH=9.499 -9.069 =0.429 A

€100 ml 0.5 M HCI 4Lzl -
NH; + HCI —> NH,CI
sl aaladl 38 5 ediy saclall 38 )5 Ja g gelall 308 55210 5 Co g
[Salt] + [Acid added]

OH = pKy + L
PUR = PR ™ 100 TRase] — [Acid added]

0.3 x400 + 0.5 x 100

500
H=-Log 176 x 105 + L

PO 09 1.76x 107+ Log 5550 — 0.5 x 100

0OH = 4.769 + 0.753 = 5,522 500

pH= 14 — 5522 = 8.478
A pH =8.478 - 9.069 = - 0.591A
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-:Indicators J¥a

;o gidl) (Jia Jaladall gl gaclall Jamall 3 Lgd sl (o oaalad) Jamdll A LS ol ety Ay guac 3 e 08

S el Ja)
-:Acid-Base Indicators (32clall -aalall) Jalaill Cilagand 8 dlaaioal) YA

sie Lasay (axi gl TSl Caaad 5l Lgil iy A 3ol @ ) (el 528 (ol 4y g LS ja

L) gl s ) Jolasl) Ak o) IS AL (paand b Jancioi LaS 33018 ) imala ALl aay Rsna pH

s il Caan Laa R0 L 53 8l st J3Val) alai) cSle i ) JiYal) @SE eole ld anani
sl

Hin* + H,O = H;O" + In
aaa Jala oaaaldl ¢ gl saclal) o ol

In + H,O =& OH + HiIn*

sl gy Basldl gl Caalal) gl
Sk Bl e g B el s

Titration of Strong Acid with Strong Base:-
el ae g 58 s a8 Ll s Allaall g daaall ikl ol
NaOH ¥ 34 0.1 g« HCI s, 54 0.05 30 de 50 st JUall s e
AN HCI oY 50 0.05 G0 O35S J slaall dac 6l ddlal J8 - -
pH=-log [H30*] = - log (0.05) = 1.3

(29l g NaOH 320 l) g Jelétll daii J& H30* 38 5 NaOH s2e @l (e Jo 10 ddlal 22y -
A1l

pac \al) 44l A= Z\:ﬂ.\m‘ HCI UAALAM QYJA Qe — [HCI]
< sl s

adladdl NaOH @Y se 22e — ALY HCl @Y g 22e
ANIFSPIEON|PEEN

(0.1 x 10) — (0.05 x 50)
(10 + 50)
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25x102M = (1—-2.5) mmole
60 ml

(A 3dad) NaOH (s Je 25 4dlial aay -

[H:O*]=vVKw =V 1% 1014 = 1x10"M
pH=-log (1x107" M) =7
pH=7 Jolis Jslas

Bacldll e Ja 25,1 ddlal any -

: SIS NaOH S5 15 A NaOH (3 830 e (s sim oY1 Jslaal
LLaY) HCI @Y s 220 — ddliaall NaOH &Y se 22e [NaOH]
SIS Jslaall aaa
133x10* M = (0.05 x 50%; ](-0.1 X 25.1) _

[OH] =C naon =1.33x 10* M

pOH=-log (1.33 x 10*) = 3.88
pH=14-3.88=10.12

A4bhlu o Clm s Nat oS! 55 claa (S
C naoH XV NaoH
V NaoH + V Hel

= [Na]

C el X V Ha
V Nnaon + V Hel

- [CI

[CI] = [Na*] Sl adais xic

AUl o gaal) dslial 23 HCI 0.1 M &« NaOH 0.05 M ¢« 50 ml 3_stes J3& pH ) s /00
(@) 24.5 ml (b) 25 mi (c) 25.5 ml caalal) e

N1
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laa s (55 (H30) 24.5 ml 4Ll e (3)

Ailadl HCI &Y 50 23 — 4La¥) NaOH &Y se 22 = [NaOH]
SIS Jslaall aaa
(0.1 x 24.5) - (0.05 x 50)
-4 _ =
6.71x 10* M = 545+ 50 =

[H30*] = Kw/ [OH]

=1x10%4/6.71 x 10* =1.49x 1011 M
pH = -log (1.49 x 10''!) = 10.88
(b) This is eg. point [H:0%] = [OHT]

H30*] = VKw = V1x104 = 1x107 M H=7
| p
(c) At 25.5 mi
662x104 M -~ (005X 50)7 - éO.l X255 _¢ o]
pH = -log (6.62 x 10%) = 3.18

Titration of Strong Acid with Strong Base:-
el Jsas e Allaall 8ol g daaaal) saldl) (g il Jelail) e daiad clagaadl) JS Jia

aaa Gl o o 500 geal) 2S5 0 (5 ¥ 50 0.1 ae LAl (aals (5 5¥ 50 0.1 (30 Ja 50 easasi 2ic
S AL ) (e 51 o 30 520

NaOH ‘LY}A e = CH3COOH &L\YJA Qe

Mb.Vb: Ma .Va
Vb:M _ 50mlx0.1M — 50ml
My 0.1M

: SUIS Jslaall pH Grass (0 mil) 32clE gl dilal 8 -

CH3COOH(aq) + H20(|) = CchOO'(aq) + H30+(aq)
Ka = [CH3COQ] [H30]
~ [CHsCOOH]
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1.75 X 10°=

X2
—= ) X=4.18 X 103M

0.1-X

pH = -log (4.18 X 103) = 2.37

NaOH saclall ddlal aie -

OS5l e cuaad pH dad [AT] Al daclds [HA] G (sl e 0S5 Lia Jslal)

;gﬂﬂ\
[A]
[HA]
2o Jeliid) jue LAl paala € el ddasy Jd -
sha¥l padall Y ga e
S g - [CH:COOH]
(Mb Vb) - (Mava)
(Vb+ Vo)

pH = pKa + log

- 98 Al )gS)S}
ddliaall aclall Y ga d2e
ANIFSPACONPENEN

— [CHsCOO']

(Mp V)
=98 gaaall 38 3 NaOH (e e 10 d8lal 2y -

(0.1 X 10) — (0.1 x 50)

[HA] = 0.0667 M = 0 50) = [CHsCOOH]
-1 sh QAN S i
[A] =0.0167 M= 0.1X10) - cH,cO00O]
_ 60
pH = pKa + log A]
[HA]

o

=4.76 + log 0.0167 / 0.0667 = 4.16

¢ NaOH 3@l (ja Ja 23 dilial 2y pH caneal /0
4
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=:(NaOH (e Jo 50 ddlcal 2ie) silSill ddats vie -

A <
oosm = ©1xS0 - (CHCOOH) =¥ oy o601
100 V1
K“WKB.
[H+] = | C
\|
1 1 1
PH=—PKw+—PKa+—DLogC
2 2 2
CH3COOr (g T H20(|) = CH3COOH(aq) + OH'(aq)
K, = [CHsCOOH] [OH]
[CH3:COO']
X2
5.71x10°= —5oe % ) X=[OH]=5.34x10°M
pOH = - log (5.34 x 10°) =8.73 pH=14-8.73=5.27

: NaOH + Je 60 48Lal 2ic
Lla¥) aalall Y e 22e — ddliaal) 3ac 8]l Y e 22e
V1

@ (0.1 x 50) — (0.1 X 60)

pH = 22?2 <lsall Jas 0.009 M = 110 -

= [OH]




